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12,391,500

11,265,000

1,126,500

7,468,000

330,000

3,467,000
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1 7,468,000
2 7,464,000
3 4,335,000
4 3,223,000
5 .000 3,223,000
6 .000 0
7 1,112,000
8 .000 142,000
9 .000 299,000
10 .000 613,000
11 0
12
(5)x

3,223,000x 0.000 .000 0
13 .000 0
14 .000 0
15 .000 35,000

16
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(4)x
3,223,000x 0.700 0.700 23,000
17 1.000 0
18 1.000 0
19
@3)x
4,335,000x 72.200 72.200 3,129,000
20 1.000 4,000
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223,000
1.000 ,223,000
1.000 .223,000
1.000 223,588
1.000 291,100
1.000 . 154,688
1.000 177,800
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142,000
1.000 142,000
1.000 142,000
1.000 142,800
1.000 142,800
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299,000
1.000 299,000
1.000 299,000
1.000 299,000
1.000 299,000
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613,000
1.000 613,000
1.000 613,000
1.000 613,000
1.000 613,000
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35,000
1.000 35,000
1.000 35,000
1.000 35,347
1.000 35,347
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4,000
1.000 4,000
1.000 4,000
1.000 4,000
1.000 4,000
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1 330,000
2 330,000
3 173,000
4 .000 142,000
5 26,000
6 .000 0
7 .000 0
8 0
9
(4+6+7+11+13+15-21) %

173,000x 0.000 .000 0
10 .000 0
11 18,000
12 .000 18,000
13 -000 8,000
14 5,000
15 .000 5,000
16 -000 0
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(4+5+15)%

173,000x 91.200 91.200 157,000
18 1.000 0
19 1.000 0
20 116,000
21 0
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142,000
1.000 142,000
1.000 142,000
1.000 142,539
1.000 142,539
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8,000
1.000 8,000
1.000 8,000
1.000 8,760
1.000 8,760
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5,000
1.000 5,000
1.000 5,000
1.000 5,927
1.000 5,927
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1 3,467,000
2 2,254,000
3 1,561,000
4 1.000 1,287,000
5 274,000
6 1.000 0
7 274,000
8 1.000 173,000
9 1.000 101,000
10 1.000 0
11 1.000 0
12 1.000 0
13
(4)x
1,287,000x 53.850 53.850 693,000
14
(2)x
2.254.000x 53.850 53.850 1.213.000
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1,287,000
1.000 1,287,000
1.000 1,287,000
1.000 1,287,500
1.000 1,287,500
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